Year [ - Mathematics

"ATHERTON

HIGH SCHOOL

Milestone bmmmmm:pm_i 1

_ L] - -
 Speak Like a Mathematician  tp— oo ——————
| || Inteaer Place Vabe |
 Integer - A whole rumber that is positive or negative : | |
| Place value - The value of o digit depending on its position in a num ber | _ “
“ Decimal - A number with a decimal point used to separate ones and tenths | _ HITIOIH|TIO|H[T|O[H|T|O _
|
| Commutative - Chanaing the order of the operations does not change the result | “ 114 m_L 0]3]5(012)9 _
“ Product - The result of multiplying I _ Plcehokd \ "
| Divisor - The number we divide by : _ _
I . o _ _fmm bilon, ore. hundred and forty el milon, |
: Palygon - A 2D shape made with straight lines “ _:iE thvez, thousand and twerty e
I Quadrilateral - A four-sided shape I __E 000, 000, 000 “
AR A
| Perimeter - The distance / lenath avound a 2D-shape | __-.!._ 1000, 000 |
e S Sy S ——
||||||||||||||||||||||| I T T TN N T T
_;i.aga%e%&g | Mental methods for muligkcation/ divison
| | Ogton s commuatie Subtraction the order s to stay the same " “ Millpieation & commutalve Padtitoning can e mutpleation
I8 %.%% [Ew=mwer] | | s B
+ + oo eeee Bl
|60 o o o0 _ “ oe  eeee - 44
“ b 3«3 b ' Z.:gqmm:_m,ﬁﬁn}n&&.g " | 4«4 - 4«2 Dwision is not gesocitive
nd suptraciion
| | The orcer of adtion does nat | “ The order of Chirkng the dvson can help 4000 = 25
| o . . | mulipication does not How mary 255 n 100 then how many chrks
change. the resuk * Workrg in 10's first ads | . .
_ | change. the resul of that n 4000
mental addtion/ subtraction _
I | e
" | O?g.d % St chusion 51 2 Complex dusion
"m e n'a  +M-+6+4
IRE4 + 4
72 % BE=GOkS {awerm TSsen il
" 5 : | faclors
I |.._ | _ The placehotier in dvsion methods & exserlia — the decemd ines up on the dviderd and The quelerd
_Tﬂwr A mv\IU L1 24 4 002 = 24 + 02 =——> 24042
1 1| L J
| £ O || *
| D M m NT | (l gyve. e came. soblon g represent [he same propordion
| | | Mokt the vakes n propodion unll The. dvsor becomes an o
|
|

Subtrction the order e 1o stay the same

_Dﬁg\gﬁgég

“— (ddlon & commutdne

_ = A~ 360 - 147 = 360 - 100 - 40 - 7 HT O
_..a_ CI e o0 » ] o0 4|2

_ .._._. .- _.. + .... o Nomber nes help for addiion and -12/4]9
| Mocebog metecs for addton srcton .
e B moceh 6+ 33+ 6 o Wakgn b agmetd —
Lo Ngrber b . oy’ Sacton Remember the place. vabe of each cobmn
le pat/ whe dagdims T order of dckdlion does nok o Sy reorsis by g You mety need to mowe. 10 ones to the ones
_ chang. the resul et Fares cohm {o be abk 1o sblet

!

ke —————
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| Properties of QuAAterst pugomm | |

Fermeler = Uhe lerolh sround The oulsde of o poleson

-

X 0l sdes equa sze

Slrowil nes thal meel al A0°

|

I
I
| —— Squre Opposile ades are porlel | | Bem £ e The trianale hoe a penmeler of 2%m “
| 1 e B F the I of
IT 1 Ofsdes equasee g Oppeste o= At L) “ — T “
_r G_Q.%Sn Co-rilencr ongps — 1 e Bem + fem o+ aoem = 2%em 1
_ Opposte ades are pardlel | “ = 2 m:n._.dm lecm + arem .Lhun._.: “
roflation Zom = %k
| e Trapeam S !
_ Reclonge | One por of porclel nes |
| 0l angkes AP . y | _ llllllllllllllllllllll _
Oppogile. ades ore. parale]
Ik o e i | Paralel and Perpendicular o
| Mo parale] e | _ ] - |
|/, Rortss ot | Paddies -~ Perperdoulr e |

{ Equd Englre on bollom 0 -
4 9 Sl

_ __. - Oppostte anges ore. equil ades “ _ _:_;...Q.m nes thal H.mqﬁ meel r _
I V e par of equu anges : _|__.._§.u he same. gradert) .
_ 7

—— —— — —— — — — — —— —— — — —

ﬁ|||||||||||
| e e - y _
| Polygors | | Mukiply/ Divide by powiers |
| i dll the sdes and anges |
| 5 - Pert § - (el | Tof 10 _
- it stk are e some, | & 0 regor Uil iV
__ 3 Trange 6 - Hexagm 9 - Nongan . | _ I
__ 4 - Quacridleral 7 Heplagon 0 - Decagn polgon _ __HHLH_.H.% - _..!l___.._!.—l__
T |® | . .
L e,
| =
Lel bel tion 1! - _
“ aﬂmwﬂ}.q_zia.%nﬁ.‘w “— 1 __ux __U.u WDD " _
_ _.,n.aﬁ.%r..ﬁ:_zm.w. St _-L...ﬂ_ x 100 _._.. e _
| . '
L | L ®
“ F\.,\w\...m.|lmw/n \ “_ All sides and angles ave equal Unequal sides and i:u_mw __ \ F o “
" g Nolator 12 o175 IBG __ isosceles triangle Right angled triangle | | 003 x 100 - 3 _
| Testeange dB- 13 1  Coutdbear 1| popesteq mulpicaon ad duson by povess |
| Line Motatior o kliers EG 11 2 sides and 2 dngles are equal _uu:..m.”w.( o ,_(n__.mjm —_ of 10 & commulalive _
" Fid L
"I:‘..q.m.:ia}:on ___ nq _“ = 0then + ) e = 100 _
[ e e e e L _
Mental methods for oo,ws ~ , be———————— .
_ﬁigggn_azﬁgqiaaa% egx 0=+ 0 | \
Methods for 12 x 003 b -
| A a% Methods for dwsion (5 <+ 007 G S B _
_ = 12x3= 3 y . _
| 2, o o iy Otity o |
| \12x008-008 )| 12x 003. 003 dusor becomes on infeger [ ' _ I
| Methoss for aton 224 TR 0 ers, 5 et 2 e “
_ s ) ﬁ ._a% 000 g Q+001+01+01+0Q1+01+001+001 I
oy 150+ 5 =30 =0+05+002
“ _u___h.,+ u_...q.--.w“ |||||||||||||||| 08 _ _ n_
— J
e
IIIIIIIIIIIIIIIIIIIII o e
Decimal intervals on a number ine (ddition/ Subtraction with decimaks

_ () ton be ysed

4 3|8
& loilemply

7,.19|10/+

(e whoke spit ilo 10 parts makes terths = 0
One terth spit nilo 10 ports mokes hundredthe = 001

|
|
| |
I I
| L L L L I L L L “ I places with vave
_ O 010203040506070809 1 [ I _
| | m-.mﬂﬁim | retead of 100
“ I I | I I | ] | I | I “ — _
0 00z 004 006 008 01 The decmal piace dels e the o |
| |1 Rewstt Fraction — Decmd
| T T T T T T T I ¢ tnd drs he clher vales m.ﬁ+wb\. equvGEnce |
nlo 02040608 1 12 14 16 18 2 _ “| 10 543408 _
Ve . T TrFTFEmEmEememmemmEmmme—m—_———————— -
| Melric conversions 10 +100 - 1000 +1000 <1000 |
| Useful Conversons mm % on e m < 'r-._ ) kg m L “
| * 10 % 100 % 1000 .x 1000 « 1000 _
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Year / - Mathematics . . .
Milestone Assessment 2

T s EEEEEEEEEE,EE_E_E____. e e e e e e e
_ | Meanproblms s
I _ L oS on o of (e cenllral _..#.n_

|

[ Average - Al measure of central tendency: typical value of all data together “ “ Lily Orvie. and mﬂﬁiﬂﬂ—.&i&nﬁﬁ "

I g - The variati dat W OITTTTTT1T1]

: w.;n.L variation of data | “nr:m.H.u:._ J4n “
Integer - A whole number that is positi ti | Eera (ITTT] tolal

| nteger whole numper that is positive or negative | |

| Decimal - 4 number with a decimal point used to separate ones and tenths _ | g tre mean 6 the auesdge amour, each _

I | | pesson wioukd hove. f shared aul equaly |

I vﬁnnn helder - _._“_m use 0 as a place holder to show that there ave none of a particular 1 “ Liy Qe Ezra "
place ina rumber |

I I I

| Megative - Any rumber less than 0: written with a minus sign " “ _

| Round - Making a number simpler but keeping the value close to what it was I I |

_ _ _

| Aeon - The 1pace inside a 20 thape “ | The mean rurber of blocks woukl be. § each I

i ppd ol S S gy fut PP R |

—— oy _ ﬂ ) _
“ Mode 7he most common | _E The mte vake |
| 1 Y 1
_ : | Exampk | Medav ptthenorder 5 4 £ 1 L2 _
: msna_u_-.@._w.miu.&_m “ | 1 39 § 1 find the mid ; 3 4 @u 2 _
Mode: &
| Mode _ [ ) | “
“ Some data sets may not have | “ m.-ﬂ:_ .ﬂwyn - Medin: ﬂnﬂ.ﬁr..ﬂ.&- ) ___memm ; _
a mode = ‘no mode' | “H ._‘ - o0 Kb 58 160

Lo e 2 | ©7 0 DY There are 2 midde rumbers I

_ Find the midport J I

_ _E Sprecd of the vales

| Difecence between the bagest and smalest

_
_
_» @ m | _
_l_ e _
_
_
|

g0
ﬁ,
&
-
3

= | T T T T T _

| Comparngdecmak  \hen e vt of 0.3 0l 0.237 “ | Compare ql.__ﬁ HE <> = F|
I "
_ 03 > 0.23 | I <bstn (D asone |

” - . 8 . . wa and & balf mallion | =) 2 500 000
| (res o Tenlre | hondredibe i | _ = m.._.n_,._\.ﬁm.q than _.uHJ\ i _
“ ) ok o Tre fL “ | =equdto o P |
| . _ | & ol equal lo Six thousand sed eighty (< |

a1
| 030 |  Ccompomathe vabes bethth _ L 1
| . te some e i erd 1 e e e ———
| | Ones ¢ Terlks | hundredis 043 dces & anctrerwag lo | _ ﬁmm 2.46192 Foas on (e rumbers |
| compare the omter of tertrs | - ' e e deceal porl
| o1 LTI 1] and hundredite | Ta kdp” = 1o ane numbey afler the decmal
| = i | _ To Jdp” — 1o two rumbers afler the deomal
: |

_l ||||||||||||||||||||||||| 4 | n._r.h_._m__&h 1o ldp) - & The coser 1o A4 or A2 h.&. _m___m_tu [ shows

he rumber &
r T 1
A4 1 @ ™~ chser 1o 25

|
|
|
| 2,462 to Udp) - b the ceser o 246 0e 247 .40 142 Tres shows the
_ o
|

T T u_h.m__ *:/r:_“....”_.,....._”,m close
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IIIIIIIIIIIIIIIIIIIIIIIIIIIIIIII ._
_ Rounding 1o the nearest power of ten F the rumber & halfway between we. “round up’ _
_ 5495 to the rearest 1000 5475 to the rearest 100 5475 to the rearest 10 “
_ | 1 r T r T —
| 000> 1 G000 5400 1Go00> 5470 L RCTTY _
| .. I

W0 -8 -7 6543210123 45 &7 89?0

r—-——"—=-"==""= === 1
| Perform calculations that cross zero | “
0 “ Mumber s are. useful to help you vsualse. the cacuidbon crosang 0 _ | _
| 62 —n Use the rumber e 1o quie subtraction of 6 | | |
— - FEER | _& 4810713 u W Fald _ — —
#4-0 I i/u..,a..,p..u Find the difererce 2 | I |
W I pelween & and -4 _ |
” | — |
| Rearanaggments of fam dla _
5450 _ 6 I |
| the. same. equalon Frem O1o -4 E . | Pallowe _
“ — 4 =g | _
t *
RARRAREREREE SA32401238 58 Dbeak belwentem -] “ .m.u -3=5 I
F _ | Cererisalo _
|||||||||||||||||||||||||||| | Portition the vake fo creale -
| @ 2270 PO COCUAIDN I“
R e o — — — — — — ——— — — —

| % x Base x Perpendoubr height
“D:s.&ma:,_.:aﬁna:_&hv

| rectange t woud fit n

||||||||||||||| b (| .
| Sbtroct drected numbers (@ - -] | | Mkiply/ Divde drected rumbers | | Trans !
= | I I
| .
" Om.. . tepeartaer. | | L L " | Translating a shape meansto
8] @] | g
“ [.P | I _ Tt representalions of A 11 move the _ﬁgbﬁuh of a h}nwn |
. ) OF [ETUNE The some cakcualion o
. I I I
| | _ | | Weusea column vector to translate I
“ _ I _ | shapes l
I =dx-3 The aet of _
| I I R I | Examples to show translation of shape A to shape B |
| _ | 000 000 wuters | | o3 I
| Dekahin i o I _ Tre & the riegalie of 2 -3 rotrer | I NEEEN I
| | —— —— regilie s |
| (| 000000« wm | 1 EEEE _
| _ | them o 1 Horizontal | <= [
I I | dx-3-6 I | Vertical H 4 .\— I 2 |
vy g0 3 | |
" B_ “ Oneaore are the nuerse opesdlione I | 4 2 _-. n |
............... JL_ e J1 (8 mman
2 1
| |
I G0 12345678
| i I
— o o = == 1 ‘ L The negative tells us that |
| .“r\mn m&_._ﬁ 1 || the shape has been
| | | EI&EH a Su i “ | AN I S I - translated down I
| Reclange 111 | 1 with negatives 1 I
| Basex Pependeuby hegt Ly I
I | |
_ | 1+ -=smaller I
_ - I
_ Pardeboram/ Ehombis T w “ | -- = Immmq I
_ ! b
_ 1 SN = -
| - = - -
" “ | (=10 </
Chark -
_ Trangke | | 2 e ;
I 1 b
_ |
!
I
|
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